Year O

MATHS WEEK & MAY [0-14TH

DAY 3- DIVISION




Yow hame 3 mirutes to- complete the next 3 guestionsi
Good luck




3. The table below shows the fruit
preferences of 25 pupils in a class.

a) What percentage prefer bananas?
Kb) What percentage prefer apples or peaches? /

Banana Apple Pineapple Peach
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3. The table below shows the fruit
preferences of 25 pupils in a class.

=9
TR a) What percentage prefer bananas?
L bt L 1 Kb) What percentage prefer apples or peaches? /
— Banana Apple Pineapple | Peach
, 8 5 7 5
| 462x23 = p N
N Solutions
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@ Challenge 2 Anithmetic:

¥ How do yow solwe theser?  Cary teach your Jamily how'?  What are
the challenges’? mew@tﬁw%wh&dﬁ? hich ones’”

What s the best method? Fastest method?

92+ 92: - 100:307




+ 100 =3.07

162

307




R I Chaﬂeng,e/ 3: Diwide up/toll— dugxt&b)éJ dugAt
Key Vocabulary
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Challenge 3: Divide up to 4 digite by | digit
{WMWWWWW@WW,MWWM}

4 84 + 6 h ~ ™
84 cany be partifioned nto 60 and, 24 >0, there are 10
84— 60 + groups o} 6 inv 60 and,
4—91\oup/slo}6'm/24—.
l l 0+ 4 - 14
S So, 84 + 6 - |4 Y,




Camgowusepm*hhoning/’u}an&w’d\ﬁse?
Pr\oblmsolwmgxand:r\easomng/

060+ =3

: 60

3




Cmgowusepmhhomng/foan&w’d\ﬁsef)
Pr\oblmsolmgxand:r\easomng/

A pile of 1000 sheets of paper

Whﬂbwﬂ\eundﬂvo‘flonﬁwo}popﬂ\?




Challengf/:%: D'wlde/up’wll- Lgi b)g/|dugxt
We carv record, the same j ufsmg/s}wr\'bduvmm

ot

/|.\/\/e/sag/, ‘howman%/6smj8?' The answer & | souueput’dwe| obove/\
the 8 bf,caus&thml&or\bgﬁ gmup/o;flé'mJS wiﬂmo/r\exnaind@ojlz

2. | %6 = 6sowehafve/ojr\exnamde»ojl2. Wepxlttfuﬁzw(ﬁr\oni}ojlﬂw@lk
to- make 24

3. \/\/e/sag/, ‘howman)é/és/'mjzlk?' The answer s 4. Weputﬂru&ab,ove
the 24 next to the |.

b, |4 s our answer

\5.50,84+6=I4 /
-




42 = 3=
) . Start with the biggest place value, we
ChﬂUﬂ‘gﬁ 3: Dvide U‘P’Jf0 are sharing 40 into three groups. We
b dxg,{t& b)g/ | dug&b can put 1 ten in each group and we
We carv record the same, ~ have 1 ten left over.

()
-~ ™ =
Yow could also _
. We exchange this ten for ten ones and
build, the then share the ones equally among the

calculation withy groups. 1O
= = -
counters: =

/ We look how much in 1 group so the
answer is 14.




Challenge 3: Dsade up to- & digits by | digit

1 3 6 r2
719%5 %

ﬁ.HowmonH/75zUvq?Thean&uept&|nemmndm2.Weput| \
above the 9 and o 2 w(f@r\ontq!l’drws

2. Houfmamé/7s/'m/25? The answer s 3 remainder 4. V\/e/put3
above the 5 and a & lm}nonto{-fl’dwe/ll-.

3. Howmamé/7s/m/4—4—? The answer s 6 remainder 2. \/\/e/put{'he
6 above the 4 and the remainder next to- it

b, Our answer s 136 ~ 2.

\5.50q54+7=|36r~2. /




Challengf/:%: D'wlde/up’wll- Lgi b)g/|dugxt
We carv record, the same j usmgxshor\'bduvmm

A cake maker has baked 234 cakes.
Iﬁshesdl&ﬂwmtmgmup&o{l@how
mamé/gmupj&wdl/sh@hwetosdl/?




Challeng&& DWidEJUP/tO[I- Lai blé/ldbgkb
We carv record, the same j u&ng/shof\'bduwom

L 1339r4}
6|8 °0 %3 °8

ﬁHowmamézés/'mJS? The answer s | remainder 2. V\/e/putﬂme| above the 8 and a 2 w(ﬁmntqflﬂrw\
O

2. Hc;wmamé/ﬁ)s/m;ZO? The answenr is 3 remainder 2. V\/e/putﬂwe3 above the O andeUvJﬁnontqfl
the 3.

3. HOUJ“FT\WéS/U’UZB? The answer s 3 remainder S. V\/e/putthe/?) above the 8 md/th@SUw!ﬁ‘onto!l
the 8.

4. How many 6s iy 587 The answer s 9 withy o remainder of 4. We pub the 9 abowve the 8 and the
remainder next to- it

5. Our arnswer s 1339 ~ 4.,

i 6. So 8038 + 6 - 1339 r 4. i




Challenge 3: Disade up to- 4 digits by | digit

We carv record the same u&ng/s}wtduwom
[|]2] Whet are the missine diad
3 V&) 1)  inthis caleulation?




ChaUﬂwgeB: D'wideup’toll- g b19/|d19413
W@mmﬂw@mwliﬁmuwmdwmm

Th@pﬂ\imd)e»o‘fﬁa;sqpm\ei&2256crm
Howlorxgzi&e,a&usidﬁ?

1372 pupxl&uua;sd’\oobanepubmiogmup&o}
q. Howmﬂwgmup&o}d\ddxmde’d\a\ebﬁ?




Challenge 3: Dinide up to 4 digits by | digit
1 T6bt + 3 - N

2. /\/\ax\g/ha&o/boooo({l475 bmmog/bull& Ijlshf/shaﬁ@s/thmw
bdumwthﬁwxd&howmmgwouldeaﬁng&t?

_ 9‘4_ — Jour book




Challenge 3: Divide up to- & digits by | digit
/45436 + 6 - N\

>. Ar\e/staumnbsex\vejs/(ﬁoodé ni,ght&ojweeh Irva/d,eli/\»e,r\g/ojl
vegf)toblmﬂxerewer\e/3875. Howmnxé/ve,gﬁmblmcam‘dfwg/

use eachy night? f\
1 8 6 i1 Ansuser v

6

\° 5‘93_ .\\ Wbook,l




Challenge 3: Dinvide up to- 4 digits by | digit

/7. Daisy raised £1245 for charity. She wanted o give anv equab
amﬂunthSd%fler\er\tchﬂmhw Howmudeoulvdjeadhdw@

get?
8. 2647 + 8 - /\
Ansuer in

58 9
Q 5‘79_5 .\\Wboohl




Answer irv

. your bookl

Mr Porter has saved £8,934
He shares it equally between his three grandchildren.
How much do they each receive?




£2,9/3

Mr Porter has saved £8,934
He shares it equally between his three grandchildren.
How much do they each receive?




Use <, > or = to make the statements correct.

3,495 + 5 O 3495 + 3
8,064 =7/ O 9,198 =7
7428 - 4 O 5685+ 5




Use <, > or = to make the statements correct.

3,495 + 5 O 3495 + 3
8,064 =7/ O 9,198 =7
7428 - 4 O 5685+ 5




Chaﬂf,ng,e/ L : -Question 2-Answer

Ansuwer irv
- your bookl

Here is a method to calculate 4,892 divided by 4 using place
value counters and short division.

Use this method to calculate:
6,610 = 5 2472 + 3 9,360 - 4




Here is a method to calculate 4,892 divided by 4 using place
value counters and short division.

Use this method to calculate:
6,610 =5 2472 - 3 9,360 = 4
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Jack s caleulating 2,240 - Answer Urv
/ He says yow can't do- it - WbDOIQJl
because / L&lo.r‘g,ex\’dmaﬂ/

ojlth@digms/wﬂwf/nmxbﬂ\

Dogmagmuﬂﬂwja@kf?

EWWW.




/ H@saxé&gmcam'tdolb
because / 'us/lo.ng,e»’drmaﬂ/
ojlth@digms/wﬂwf/nmxbﬂ\
Dogmagmuﬂﬂwja@kf?

Ex;ﬁw’ngoupon&w.




hitpsi//wwwslree~training-tiutorial.com/long -



https://www.free-training-tutorial.com/long-division/snorks/snorks.html

